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This.question’ paper-contains two p SR S e FE
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit. Each question
carries 10 marks and may have a, b, ¢ as sub questions.
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- 5 (25 Marks) "
What is meant by apparent power? " ' I 21
Why the copper losses are more in a transformer? 2]

What is necessity of rotating magnetic field in the induction motor? [2]
What is the difference between fuse unit and switch fuse unit? [2]

What is meant by capacitor charging current, obtain its expression in terms of its time

and 10 ms for 50 Hz frequency? 31
What is the difference between ideal transformer and practical transformer? [3]

(3]

State Kirchhoff Current Law and Voltage law, determine the values for Iy and Vy in the

following given circuit shown in figure 1.
-3A

Figure: 1
In the following given circuit shown in figure 2, calculate i) v,,v, and v; ii) power

ivered to Ry, Ry and Rs.
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A 50 kVA, 1000/10000 V, 50Hz single phase transformer has iron loss of 1200W. The

+ Deseribe the constructional details of three phase:slip ring inductign motor.
£..Déscribe the torgue ‘ el

Find the Norton equivalent circuit of the following given circuit shown in figure 3 with
respect to the terminals ‘a-b’?

Figure: 3
State and explain superposition theorem.

£ If..édmiﬁaﬁég éf a..:series

RL series circiit? If.z : tis...
sitcuit components-fot the frequency-*

value of 50 Hz?
Balanced Y-connected load of 10 kW at 0.8 power factor lagging supplied by a 50-Hz,

300-V, three-phase system. Find the line current delivered by the source. Draw the phasor
[5+5]

diagram.
OR
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ity with examf;}?_

m is represerited as phasor qua

blain how the:sinusoidal wa\'{.:é:&for ,,,,,

Explait _ or d. janfit
A‘coillis confiécted. in.series With a capacitor/6f 20.uF: to a 200V-variable fréquiency .4

supply. The current is a maximum at 50 A, when the frequency is set to 50 Hz. Determine
the resistance and inductance of the coil. [5+5]

Draw and explain the phasor diagram of single phase transformer on lagging load.

Describe the principle of operation of auto transformer, what is the saving of copper in

this transformer when compared with two winding transformer?
Discuss the various three phase transformer groups and their significance? [5+5]

speed chardcferistics. of separately excited de/miotor. -

. : RS ) : S ;
What are the various losses occurs in the three phase induction motor in their operation?
Describe briefly construction details of any three phase synchronous generator? [5+5]

i) 5 number of 40 W lights operated 5 hours per day
i) 1 h.p. motor is operated 2 hours per day
iii) 1 k.W heater is operated 1 hour per day

iv) 1 computer is used for 6 hours per day with printer about 30 minutes. [5+5]




